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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on

the answer-book during this period. .
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General Instructions :

(i)
(ii)
(ii1)

(iv)

(v)

All questions are compulsory.

The question paper consists of 30 questions divided into four sections —
A, B, Cand D.

Section A contains 6 questions of 1 mark each. Sectionn B contains
6 questions of 2 marks each, Section C contains 10 questions of 8 marks
each and Section D contains 8 questions of 4 marks each.

There is no overall choice. However, an internal choice has been provided
in two questions of 1 mark each, two questions of 2 marks each,
four questions of 3 marks each and three questions of 4 marks each. You

have to attempt only one of the alternatives in all such questions.
Use of calculators is not permitted.

Tus A
SECTION A

97 G&IT1 @6 0% F%F J97 1 3% FT & |
Question numbers 1 to 6 carry 1 mark each.

1.

14, PS =33, QS =4 %f, 2 PRQ =0, £ PSQ = 90°, PQ 1 RQ T
RQ=9¥M 2 | tan 6% WM @ Fifdw |

P
3 gt

S
4 gt

R 9at Q
SATFI 1

AT
5
qﬁt&nhﬁ ®, T sec o 1 W T HIRAT |
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In Figure 1, PS = 3 cm, QS =4 cm, ~ PRQ =0, £ PSQ = 90°, PQ L RQ and
RQ = 9 cm. Evaluate tan 0.

F
3 cm
S
4 cm
6 ]
R 9 em Q

Figure 1
OR

If tana = 15—2, find the value of sec o.

2. T aqenb(a>b) & Hhgl gw Ry e ¥ | 9 g9 SEr, A SR I
# TeiE B, 6 w9 Fif |

Two concentric circles of radii a and b (a > b) are given. Find the length of
the chord of the larger circle which touches the smaller circle.

3.l fig A, 0) 7 fdig Bx, - ) % o= 1 g0 5 ¥ R, @ x F AW w7
I |

Find the value(s) of x, if the dlstance between the points A(0, 0) and
B(x, — 4) is 5 units.

4. T $ifvu s gem — gz . %mew%mﬁmﬁ%

91 37d J |
HYAT "
AT 429 1 7% 1T THGUE! R % 9§ =eh HIRAU |
Find after how many places of decimal the decimal form of the number.
27

23 .51 32

will terminate.

OR
Express 429 as a product of its prime factors.

S. feama adfiemo (x + 5)% =2 (5x — 3) I Tafarmre (discriminant) feafigu |
Write the discriminant of the quadratic equation (x + 5)2 = - 2 (5% - 3).
6. 3% wem 10 Ul 1 AR T AT |
Find the sum of the first 10 multiples of 3.

[30/373 | 3 P.T.O.
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SECTION B
T97 &I 7 8 12 7% Jedeh Fod F2 37 8 |
Question numbers 7 to 12 carry 2 marks each.
7. 4 65 TAT 117 % H.H. (HCF) ! 65n — 117 % T § GuIfan 1 Hehal &, I n
1AM T HIFT |
HIAT
& A geg 1 W % e o @y 9 Free ok 3% wa o aETE HA:
30 cm, 36 cm TUT 40 cm B | WA I =AW fohet gt a HEA gill foh guft
A9 Ul el F T gl <ol ? |
If HCF of 65 and 117 is expressible in the form 65n — 117, then find the

value of n.

OR

On a morning walk, three persons step out together and their steps
measure 30 cm, 36 cm and 40 cm respectively. What is the minimum
distance each should walk so that each can cover the same distance in
complete steps ?

8. U UH Wl T IR Hehl W1 & | WIRehar Wid HINT (1) ITH S TH 9IS
AT 2, (i) ITH €A1 U 39T 9641 8 |
A die is thrown once. Find the probability of getting (i) a composite
number, (ii) a prime number.

9. ol il s A faft &1 i F@ gu zwizy fF Wi X2 - 8x + 18 = 0 &
13 7 81 ¢ |

Using completing the square method, show that the equation

%2 — 8% + 18 = 0 has no solution.

10. € FBF W7 & 40 T A Feam foeft §, wF ¥ ¥ W@ g ¥ | oo @
T IS Figeodl e & | s i i 7w g e oo
qT 3o T 7 H TH P R |

Cards numbered 7 to 40 were put in a box. Poonam selécts a card at

random. What is the probability that Poonam selects a card which is a
multiple of 7 ? '

11. = Ies g gm g Hifvn .

3x + 4y = 10
2x -2y =2
Solve the following pair of linear equations :
3x +4y =10
2x — 2y = 2
(30/3/3] - 4
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12.  fag A, 1), B(5, 1), C(a, b) 71 D(4, 3) TF WA =g4 ABCD & ¥id fiig
gla?ﬁﬂbaﬁqﬁaﬁﬁﬁﬂq|
Stera
fgel A2, 0) 9 B(0, 8) M e @ YarEe W fig P @ fig Q
W.W%,WP%A%W% | figadl P aen Q % Fdwis 3
|

Points A(3, 1), B(5, 1), C(a, b) and D(4, 3) are vertices of a parallelogram
ABCD. Find the values of a and b.

OR
Points P and Q trisect the line segment joining the points A(- 2, 0) and
B(0, 8) such that P is near to A. Find the coordinates of points P and Q.

@us |
SECTION C

Yo7 G113 T 22 7% Y% T F 3 3(F & )

Question numbers 13 to 22 carry 8 marks each.

13. el e srenfien 3 @ w9 % fow s wen & 40 e B srefefy
Frerfefias =7 # feid A | o famnef fan e svufea @ s men T
HIfeTT |

feti 0-6 | 6-12 [12-18|18-24 2430|3036 | 36— 42
q&1 - .

%@Iﬁ‘ﬁrﬁ 10 11 7 4 | 4 3 1
He T '

A class teacher has the following absentee record of 40 students of a class
for the whole term. Find the mean number of days a student was absent.

Numberof | , o | 6_12 |12-18|18 24|24 30 30 — 36 | 36 — 42
days : '
Number of 10 11 7 4 4 3 1
students : -

I
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14, st 29, 5% e % w99 ) 8 300 et s o PQR | P QT
el 3 TR U fag T W e et @ | Tpﬁﬁmmﬁﬁml

3Tl 2
eraT

firg i & g0 % ufora o=t wgis 6 A e, 59 %
HYH HI0 A el B | B, T W S

In Figure 2, PQ is a chord of length 8
tangents at P and Q intersect at a poin

@ sin(

i) IR 2LA=90°2, @ tan(B+c
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cm of a circle of radius 5 cm. The
t T. Find the length TP.

Figure 2

OR
Prove. that opposite sides of g quadril

subtend supplementary angles at the ce Scribin .
; ntre of the e 8 a cir
15, AB IR Cﬂ‘ijﬁl ABC % 37g: Ebafﬂlﬁ | ia@-@ S e circle, cle

ateral circum

A

= COS—

2 )W“m%

. HYqr -
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o
3% tan (A + B) = 1 997 tan (A—B) = % 2, FE0°<A+B<90°,A>BR,
dl A9 B HH W Hifyu | -
A, B and C are interior angles of a triangle ABC. Show that
(1) Sin(B 2 C] = cogé
\ 2 2
(@) If £ A =90° then find the value of tan(B ; C].
OR
If tan (A + B) = 1 and tan (A — B) = v—%,O“’<A+B <90° A > B, then find
the values of A and B.
16. Tag Fife % /3 o smafg gem @ |
HUYAT
I8 SEI-H-9g e Fia hifore @ TEmed 1251, 9377 @1 15628 1 AT
T T HAT: 1, 2 991 3 A9FA ST R | '
Prove that /3 is an irrational number.
OR
Find the largest number which on dividing 1251, 9377 and 15628 leaves
remainders 1, 2 and 3 respectively.
17. G x —y + 1 = 0 3R 3x + 2y — 12 = 0 %1 W% Wifyw | 1% AT, x 3R y
% ST GHIHIN ! TGS B aTd TH T HIRT |
Draw the graph of the equations x -y + 1 = 0 and 3x + 2y — 12 = 0. Using
this graph, find the values of x and y which satisfy both the equations.
18. 6.7 =Sl it 1-5 . T Th T A TR 10 fefve. ) we A w5 @ 2
30 fire #, 77 T forem & A oS s ot wefs R ¥ R s adt
TR I8t §Y U I ARl Bl 2
Water in a canal, 6 m wide and 15 m deep, is flowing with a speed of
10 kim/h. How much area will it irrigate in 30 minutes if 8 em of standing
water is needed ? |
19. et s ABC % ¥fid A 9 ST BC W STell wn g BC %1 foig D W 39
' woR fherar & 7 DB =3CD ? | g $ifsw s 2482 = 2402 + BC2.
AYTT
7 P.T.O.
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AD 3R PM figsit ABC 3fix PQR 1 swrer: wiferhid & ifs A ABC ~APQR

AB
%lﬁgaﬁlﬁq%ﬁs &

PM

§23|

The perpendicular from A on side BC of a A ABC meets BC at D such that
DB = 3CD. Prove that 2AB? = 2AC? + BC2,

AD and PM are medians of trian

20.

OR

gles ABC and PQR respectively where
A ABC ~ A PQR. Prove that il‘}li _ AD

PM’
14%%@13@@@6&#&%%% 60° =T IV Fafd el & |

Y JTEUS HT §TBe [ HIVTT | (n=¥ a3 =1-73 =1 JIIT hHiferw)

A chord of a circle of radius 14 ¢cm subtends an angle of 60°

at the centre.

Find the area of the corresponding minor segment of the ecircle
(Use n=%2~ and /3 = 173)

21.

ABC =1 8% 6 1 3T & |

Find the value of k so that the area of triangle ABC
B(4, - 3) and C(7, - k) is 6 square units.

‘ﬂﬁa'g"qaa_x2+7x+b %W%HW—S%,@aWb%mm%|

22.
2

If r and — 3 are the zeroes of the polynomial ax2

values of a and b.

Question numbers 23 to 30 carry 4 marks each.

23. ﬂ%ﬁqﬂqéﬂaﬁ‘ﬁaﬁmm’ﬁ;ﬁaﬁ

k =T 98 "M Jd shifrg, @ Ak + 1, 1), B4, —

WUE T

SECTION D
T¥ T&IT 23 @ 30 7% Y Y97 F 4 3% &

Q 1 W 1 dieor Eifd |

T e

20 -30

30 - 40

40 - 50

)T C(7, - k) | & B

with A(k + 1, 1),

+ 7X + b, then find the

50 - 60

R :

10

8

3/3]
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60 - 70

70-80(80-90

24

6

25 15
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Change the following distribution to a ‘more than type’ distribution.
Hence draw the ‘more than type’ ogive for this distribution.

Class
interval :

20-30|30-40|40-50|50—-60|60—70|70—80|80-90

Frequency : 10 8 12 24 6 25 15

24, Uh HHGA SHM W @S {HR A o 39 Rl & 40 oY, il &= 8 9 2
Steifeh G 1 IAAH (altitude) 60° A Hes 30° 81 ST 2 | HHR ) S=é 7@
it | (e mn @ V8 =1732)

The shadow of a tower standing on a level ground is found to be 40 m
longer when the Sun’s altitude is 30° than when it was 60°. Find the
height of the tower. (Given 3 =1732)

25. =M frel B il w w1 F wwik e @ yeedl & fiEfim fagsii w
S F 3 R o Y wie s, 6 fig IR e 3 9 3 aeE T @

g § fawnfoa & st @ )

' . arerat
g e 6w wweror fger & vl o1 ol A9 3 yemeti F S F ATH F
SO BT B |

If a line is drawn parallel to one side of a triangle to intersect the other

two sides in distinct points, prove that the other two sides are divided in
the same ratio.

OR

Prove that in a right triangle, the square of the hypotenuse is equal to
the sum of the squares of the other two sides.

26. afe fordl @aiat 31 &% md 98 1 m T, 36% nd vz ¥ ¥ SO 8
(m¢n),?ﬁaﬁﬁst{%mﬁ?.ﬁ¢l(m+n)ﬁﬁ'qawﬁﬁm |nﬂmT

HYAT ;
mmé@ﬁwﬁqmaﬁmm 18 B | 3fE yget 3t fim ug
mmuﬁWW5gﬂns‘r,aﬁﬂﬁH@Taﬁﬁm?ﬁﬁq l
If m times the m' term of an Arithmetic Progression is equal to n times
its nth term and m # n, show that the (m + ) term of the A.P. is zero.

OR

The sum of the first three numbers in an Arithmetic Progression is 18. If

the product of the first and the third term is 5 times the common
difference, find the three numbers.

30/3/3 9 P.T.0.
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SFH 3 ¥, T % R 1w s i T R S Q) 3@ — T I
U S A T R | ol 1 NN T 6 Al G H G 3 U1 I I
T N ? e s 4994 2 | 3 €

(a) =T HI Fd IS e | |

(b) = B Sl B A | “}?’Q*

(=2 i) '

- -

-
-

-

6 Tt

6 At

6 gt
3TFHla 3

areraT
S R Gelt T St IF * foww ¥ ammn

® | 35% I 9 Few gaen R 6 Frsamd
aedl H FEE a0 FINT qon qed F T
A HifT | (n= 3:14 1 JaW ifsw)

In Figure 3, a decorative block is shown which is made of
cube and a hemisphere. The base of the

block is a cube wi
and the hemisphere fixed on the top has a
(a)

(b)

& Tt aifen 12308-8 A3
PRI 20 T AU 12 Jh
A oy D A= w e

two solids, 5

th edge g
diameter of 4-9 cm, Fing e
the total surface area of the block.

the volume of the block formed. (Take 7 —

< 4-2 cm »
| |

22
-,-7—)

T
- S

6 cm

6 cm

6 cm
Figure 3
OR
30/3/3]
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28.

29.

30.

A bucket open at the top is in the form of a frustum of a cone with a
capacity of 123088 em®. The radii of the top and bottom circular ends are

20 cm and 12 em respectively. Find the height of the bucket and the area
of metal sheet used in making the bucket. (Use 7 = 3-14)

wh B i w Siftre R yenedt 6 wargat 5 3, 6 G qe 7ﬁtﬁ.%'|
I T 3 e 6w Hif Rt et veelt Bys i wd gen
5

E-ﬂ:ﬁ—g“

Construct a triangle, the lengths of whose sides are 5 cm, 6 cm and 7 cm.

Now construct another triangle whose sides are g times the

corresponding sides of the first triangle.

- Tag Sifvw 6

tan® @ cot® 0 ]
5 S = sec 0 cosec 6 — 2 sin O cos 0.
1+tan” 0 1+ cot“ 6

Prove that :

tan3 0 & cot3 0 5 0—2sin0
= SecC cosec y —
1+tan2® 1+cot2® SR,

o e e, R o ot § = o Ry 2, 15 Rerft urg 3

ITHA T
wmaﬁwmaﬂzaﬁﬁgﬂaﬁ45ﬁ%wméﬁ%|mﬁ
a1l I i |

A motorboat whose speed in still water is 9 km/h, goes 15 km
downstream and comes back to :

: the same spot, in a total time of 3 hours
45 minutes. Find the speed of the stream.

30/3/3
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